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Importance Instructions / egRoiw.kZ funsZ'k

1.	 This paper consists of 100 multiple choice questions (M.C.Q.). All questions are  
	 compulsory and carry 01 mark each. There is not negative marking.

	 bl iz'u i=k esa 100 cgqfodYih; iz'u gSaA lHkh iz'u vfuok;Z gSa o izR;sd iz'u 01 vad dk gSA xyr mÙkj 

	 ds fy, vad ugha dkVs tk;saxsA

2.	 Each question has four alternative responses marked (A), (B), (C) and (D). You  
	 have to choose an appropriate answer option and mark it on the OMR sheet.

	 izR;sd iz'u ds pkj mÙkj fodYi (A), (B), (C) ,oa (D). fn, x, gSaA vkidks mi;qDr mÙkj fodYi dk 

	 pquko dj OMR izi=k ij vafdr djuk gSA
(Contd. on the last page/vU; funsZ'k vfUre i`"B ij)
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1.	 The word "ecosystem" was coined by

	 (A)	 A.G. Tansley				   (B)	 Robert Brown

	 (C)	 Julian Huxley			   (D)	 Ernst haeckel

	 bdksflLVe 'kCn dks çfrikfnr fd;k Fkk

	 (A)	 ,-th-Vsulys us				   (B)	 jkscVZ czkmu us

	 (C)	 gDlys us				    (D)	 ,ULVZ gsdy us

2.	 The word "Environ" has been taken from the language.

	 (A)	 Latin					     (B)	 Greek

	 (C)	 French				    (D)	 Sanskrit

	 ^^bfUojksau** 'kCn bl Hkk"kk ls fy;k x;k gS

	 (A)	 ysfVu					     (B)	 xzhd

	 (C)	 Úsap					     (D)	 laLÑr

3.	 Which of the following is decomposer?

	 (A)	G reen Plants			   (B)	 Birds

	 (C)	 Reptiles				    (D)	 Bacteria

	 fuEu esa ls dkSu lk vi?kVd gS\

	 (A)	 gjs ikni				    (B)	 i{kh

	 (C)	 ljhl`i					    (D)	 thok.kq

4.	 In aquatic ecosystem, the producers are :

	 (A)	 Zooplankton				   (B)	 Phytoplankton

	 (C)	 Fungi					    (D)	 Small fishes

	 tyh; ikfjfLFkfrd ra=k esa mRiknd gSA

	 (A)	 çk.kh Iyod				    (B)	 ikni Iyod

	 (C)	 dod					    (D)	 NksVh eNfy;k¡
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5.	 In which of the following has always upright pyramid?

	 (A)	 Energy				    (B)	 Biomass

	 (C)	 Number				    (D)	 None of the above

	 fuEu esa ls bldk fijkfeM lnSo lh/k gksrk gS

	 (A)	 ÅtkZ dk				    (B)	 ck;ksekl dk

	 (C)	 la[;k dk				    (D)	 mijksDr esa ls dksbZ ugha

6.	 Which of the following scientist proposed 10% energy law?

	 (A)	 E.P. Odum				    (B)	 R. Mishra

	 (C)	 R. Lindman				    (D)	 B. Lee

	 fuEu esa ls fdl oSKkfud us mtkZ dk 10 izfr'kr fu;e dk izfriknu fd;k\

	 (A)	 bZ-ih- vksMe				    (B)	 vkj- feJk

	 (C)	 vkj- ¯yMesu				    (D)	 ch- yh

7.	 The word biodiversity is used for

	 (A)	 Animals only			   (B)	 Animals and Plants only

	 (C)	 Plants, animals and microbes	 (D)	 Viruses only

	 tSo fofo/rk 'kCn iz;qDr gksrk gS

	 (A)	 dsoy tarqvksa ds fy,			  (B)	 dsoy tarqvksa o ikniksa ds fy,

	 (C)	 ikniksa] tarqvksa	o lw{ethoksa ds fy,	(D)	 dsoy fo"kk.kqvksa fd fy,

8.	 Which of the following year was declared as biodiversity year?

	 (A)	 2010					     (B)	 2012

	 (C)	 2018					     (D)	 2011

	 fuEu esa ls dkSu lk o"kZ tSofofo/rk o"kZ ?kksf"kr fd;k x;k Fkk\

	 (A)	 2010					     (B)	 2012

	 (C)	 2018					     (D)	 2011
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9.	 Which of the following is example of In-situ conservation method?

	 (A)	 National Parks			   (B)	 Wildlife Sanctuaries

	 (C)	 Biosphere Reserves		  (D)	 All of the above

	 fuEu esa ls dkSu bu lhVw laj{k.k fof/ dk mnkgj.k gS\

	 (A)	 jk"Vªh; m|ku				    (B)	 oU; tho vH;kj.;

	 (C)	 ck;ksfLiQ;j fj”koZ 			   (D)	 mijksDr lHkh

10.	 Gir National park is located in the state

	 (A)	 Rajasthan				    (B)	 Himachal Pradesh

	 (C)	 Gujarat				    (D)	 Tamil Nadu

	 fxj jk"Vªh; m|ku bl jkT; esa fLFkr gS

	 (A)	 jktLFkku				    (B)	 fgekpy çns'k

	 (C)	 xqtjkr					    (D)	 rfeyukMq

11.	 Which of the following is first national park of India?

	 (A)	 Gir National Park			   (B)	 Kaziranga National Park

	 (C)	 Corbett National Park		  (D)	 Valley of Flower National Park

	 fuEu esa ls dkSu lk Hkkjr dk igyk jk"Vªh; m|ku gS\

	 (A)	 fxj jk"Vªh; m|ku			   (B)	 dkthjaxk jk"Vªh; m|ku

	 (C)	 dkWcsZV jk"Vªh; m|ku			   (D)	 iQwyksa dh ?kkVh jk"Vªh; m|ku

12.	 Which is National aquatic animal of India?

	 (A)	 Platanista gangetica gangetica

		 (B)	 Hilsa ilisha

	 (C)	 Gavilis Gangeticus

	 (D)	 Schizothorax richardsonii
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	 dkSu&lk Hkkjr dk jk"Vªh; tyh; i'kq gS\

	 (A)	 Iysfu"Vk xaxsfVdk xaxsfVdk 	

	 (B)	 fgYlk bfy'kk

	 (C)	 xsfofyl xaxsfVdl				  

	 (D)	 lkbtksFkksjDl fjpMZlksubZ

13.	 Which one of  the following is state flower of Uttarakhand?

	 (A)	 Saussurea obvallata		  (B)	 Myrica esculenta

	 (C)	 Rhododendron			   (D)	 Hibiscus

	 fuEu esa ls dkSu lk mÙkjk[kaM dk jkth; iq"i gS\

	 (A)	 lkSlqfj;k vkscysVk			   (B)	 fE;zdk ,sLdwysaVk

	 (C)	 jksM+ksMsMªksu				    (D)	 fgfcldl

14.	 Expanded form of IUCN is.

	 (A)	 International Union of Conservation of Nature

	 (B)	 International Unity of Conservation of Nature

	 (C)	 Intergovernmental Union for Counting of Natural resources

	 (D)	 Indian Union for Conservation of Nature

	 vkbZ-;w-lh-,u- dk c`gn :i gSA

	 (A)	 baVjus'kuy ;wfu;u iQkWj daljos'ku vkWiQ uspj

	 (B)	 baVjus'kuy ;wfuVh iQkWj daljos'ku vkWiQ uspj

	 (C)	 baVjxouZesaVy ;wfu;u iQkWj dkma¯Vx vkWiQ uspqjy fjlkslsZt	

	 (D)	 bafM;u ;wfu;u iQkWj daljos'ku vkWiQ uspj
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15.	 Which of the following is major threat to biodiversity?

	 (A)	 Air Pollution				   (B)	 Habitat Loss

	 (C)	 Poaching				    (D)	 Water Pollution

	 fuEu esa ls dkSu lk tSo foo/rk ds fy, lcls cM+k [krjk gS\

	 (A)	 ok;q iznw"k.k				    (B)	 vkokl {kj.k

	 (C)	 voS/ f'kdkj				    (D)	 ty iznw"k.k

16.	 How many biogeographical zones in India?

	 (A)	 12					     (B)	 11

	 (C)	 13					     (D)	 10

	 Hkkjr esa fdrus thoHkwfoKkuh {ks=k gSa\

	 (A)	 12					     (B)	 11

	 (C)	 13					     (D)	 10

17.	 Light, temperature, humidity and pH are examples of

	 (A)	 Biotic factors			   (B)	 Abiotic factors

	 (C)	 Producers				    (D)	 None of above

	 çdk'k] rkieku] vknzrk rFkk ih-,p- mnkgj.k gSa

	 (A)	 tSfod ?kVd ds			   (B)	 vtSfod ?kVd ds

	 (C)	 mRikndksa ds				    (D)	 mi;qZDr esa ls dksbZ ugha

18.	 The term "Ecology" was proposed by

	 (A)	 A.G. Tansley				   (B)	 Robert Brown

	 (C)	 Julian Huxley			   (D)	 Ernst Haeckel

	 ^^bdksykWth** 'kCn izfrikfnr fd;k FkkA

	 (A)	 ,-th- Vsulys us			   (B)	 jkscVZ czkmu us

	 (C)	 twfy;u gDlys us			   (D)	 ,ULVZ gsDdsy us
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19.	 Which of the following animal is poikilothermic?

	 (A)	 Passer domesticus			   (B)	 Naja naja

	 (C)	 Columba livia			   (D)	 Panthera tigiris

	 fuEu esa ls dkSu lk tkuoj fo"kerkih gS\

	 (A)	 islj MksesfLVdl			   (B)	 uktk uktk

	 (C)	 dksyEck fyfo;k			   (D)	 iSaFkjk VkbZfxfjl

20.	 How many biodiversity hot spots are present in India?

	 (A)	 Two					     (B)	 Four

	 (C)	 Five					     (D)	 Three

	 Hkkjr esa fdrus tSofofo/rk gkWV LikWV gSa\

	 (A)	 nks					     (B)	 pkj

	 (C)	 ik¡p					     (D)	 rhu

21.	 What is the correct sequence of ecological succession?

	 (A)	 Nudation<Invasion<Competition<Climax

	 (B)	 Invasion< Nudation<Competition<Climax

	 (C)	 Migration<Nudation<Invasion/<Climax		

	 (D)	 Nudation<Migration< Climax<Invasion

	 ikfjfLFkfrdh; vuqØe.k dk lgh Øe gS

	 (A)	 uqM+s'ku<bUostu<dEiVh'ku<DykbesDl

	 (B)	 bUostu<uqM+s'ku< dEiVh'ku<DykbesDl

	 (C)	 ekbxzs'ku<uqM+s'ku<bUostu<DykbesDl		

	 (D)	 uqM+s'ku<ekbxzs'ku< DykbesDl<bUostu
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22.	 Which of the following is responsible for formation of acid rain?

	 (A)	 NOx and SOx			   (B)	 Benzene and formaldehyde

	 (C)	 O3 and Co2				    (D)	 None of the above

	 fuEu esa ls dkSu vEyh; o"kkZ cuus ds fy, mÙkjnkbZ gSa\

	 (A)	 NOx o  SOx				   (B)	 csathu o iQkseZYMs+gkbZM 

	 (C)	 O3 o  Co2				    (D)	 mijksDr esa ls dksbZ ugha

23.	 Eutrophication is related to

	 (A)	 Soil Pollution			   (B)	 Water Pollution

	 (C)	 Noise Pollution			   (D)	 Air Pollution

	 lqiks"k.k lEcaf/r gS

	 (A)	 e`nk iznw"k.k ls				   (B)	 ty iznw"k.k ls

	 (C)	 èofu iznw"k.k ls			   (D)	 ok;q iznw"k.k ls

24.	 Ozone layer depletion, acid rain, global warming are consequences of 

	 (A)	 Water Pollution			   (B)	 Air Pollution

	 (C)	 Noise Pollution			   (D)	 Soil Pollution

	 vkstksu ijr {kj.k] vEyh; o"kkZ] oSf'od Å".krk ifj.kke gSa

	 (A)	 ty iznw"k.k ls				   (B)	 ok;q iznw"k.k ls

	 (C)	 èofu iznw"k.k ls			   (D)	 e`nk iznw"k.k ls	

25.	 Which of the following protocol is related to reduce green house gases emission?

	 (A)	 Montreal Protocol			   (B)	 Helsinki Protocol

	 (C)	 Kyoto Protocol			   (D)	 None of the above

	 fuEu esa ls dkSu lk izksVksdkWy xzhu gkml xSlksa ds mRltZu dks de djus ls lEcaf/r gS\

	 (A)	 eksafVª;y izksVksdkWy			   (B)	 gsy¯ldh izksVksdkWy

	 (C)	 D;ksVks izksVksdkWy			   (D)	 mijksDr esa ls dksbZ ugha
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26.	 Which of the following is physical parameter of water?

	 (A)	 Turbidity				    (B)	 Biochemical Oxygen Demand

	 (C)	 Dissolved Oxygen			   (D)	 Chlorides

	 fuEu esa ls dkSu lk ty dk HkkSfrd iSjkehVj gS\

	 (A)	 VjchMhVh				    (B)	 tSo jlk;u vkWDlhtu ekax

	 (C)	 ?kqfyr vkWDlhtu			   (D)	 DyksjkbMl

27.	 SO2 is responsible for

	 (A)	 Asthma				    (B)	 Skin Problem

	 (C)	 Itail itai Disease			   (D)	 Blue baby syndrome

	 SO2  mÙkjnkbZ gS

	 (A)	 vLFkek ds fy,			   (B)	 peZ leL;kvksa ds fy,

	 (C)	 brkbZ bV~VkbZ jksx ds fy,		  (D)	 Cyw csch ¯lMªkse ds fy,

28.	 Main cause of Ganga river pollution is

	 (A)	 Pesticides and insecticides	 (B)	 Solid waste

	 (C)	 Domestic sewage			   (D)	 Mass bathing

	 xaxk unh ds iznw"k.k dk eq[; dkj.k gS

	 (A)	 isfLVlkbM o dhVuk'kd		  (B)	 dwM+k dpjk

	 (C)	 ?kjsyq vif'k"V				   (D)	 lkewfgd Luku

29.	 The expanded form of PAN is

	 (A)	 Per Oxy Acytyl nitrates		  (B)	 Per Oxygen Acid nitrate

	 (C)	 Per Oxy acetic nitrite		  (D)	 None of the above

	 PAN dk c`gn :i gS

	 (A)	 ij vksDlh ,slhVkby ukbVªsV~l		 (B)	 ij vkWDlhtu ,flM ukbVªsV

	 (C)	 ij vksDlh ,flfVd ukbVªkbV		 (D)	 mijksDr esa ls dksbZ ugha
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30.	 Bioremediation means	  

	 (A)	 Introduces new species in area

	 (B)	 Removal of toxic substances by using biological components

	 (C)	 Entry of nitrates and phosphates in aquatic ecosystem		

	 (D)	 Increasing toxic chemicals in each trophic level

	 tSfod mipkj dk vfHkçk; gS

	 (A)	 ubZ iztkfr dk fdlh LFkku ij vkuk				 

	 (B)	 tSfod rRoksa }kjk fo"kkÙkQ inkFkks± dks gVkuk

	 (C)	 tyh; ifjra=k esa ukbVsªV~l o iQkWLiQsVl dk izos'k gksuk			 

	 (D)	 fo"kkÙkQ jlk;uksa dk izR;sd [kk| Lrj ij c<+uk

31.	 Which one of the following are fastest waves of earthquake?

	 (A)	 S-waves				    (B)	 Love waves

	 (C)	 P-waves				    (D)	 Surface waves

	 fuEu esa ls dkSu lh Hkwdai dh lcls rhoz rjaxs gSa\

	 (A)	 ,l-rjaxs				    (B)	 yo rjaxs

	 (C)	 ih-rjaxs					    (D)	 lrg rjaxs

32.	 Earthquake is also known as

	 (A)	 Tornadoes				    (B)	 Tremor

	 (C)	 Cyclone				    (D)	 Tsunami

	 Hkwdai dks ;g Hkh dgk tkrk gS

	 (A)	 VksjuhM+ks					    (B)	 Vªseksj

	 (C)	 pØokr					    (D)	 lqukeh
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33.	 Which area of India is sensitive to cyclone?

	 (A)	 Himalayan region			   (B)	 North-East region

	 (C)	 Arabian Sea and Bay of Bengal	 (D)	 Deccan peninsula region

	 Hkkjr dk dkSu lk {ks=k pØokr ds fy, losanu'khy gS\

	 (A)	 fgeky;u {ks=k				   (B)	 mÙkj&iwoZ {ks=k

	 (C)	 vjc lkxj o caxky dh [kkM+h	 (D)	 MsDdu isfuulqyk

34.	 Richter scale was developed in the year.

	 (A)	 1972					     (B)	 1935

	 (C)	 1967					     (D)	 1960

	 fjDVj Ldsy fdl o"kZ esa fodflr fd;k x;k

	 (A)	 1972					     (B)	 1935

	 (C)	 1967					     (D)	 1960

35.	 Which of the following is chairman of disaster management?

	 (A)	 Home minister				    (B)	 Foreign minister

	 (C)	 Financial minister				   (D)	 Prime minister

	 fuEu esa ls dkSu vkink izca/u ds vè;{k gSa

	 (A)	 x`g ea=kh					     (B)	 fons'k ea=kh

	 (C)	 foÙk ea=kh					     (D)	 ç/kuea=kh

36.	 The correct meaning of word "Disaster" is

	 (A)	 Sudden					     (B)	 Bad star

	 (C)	 Unfortunate					    (D)	 Immediate

	 ^^fMtkLVj** 'kCn dk lgh vfHkizk; gS

	 (A)	 lMu						      (B)	 csM LVkj

	 (C)	 vuiQkWjpqusV					     (D)	 behfM;sV
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37.	 Which one of the following is negative impacts of dams?

	 (A)	 Employment					    (B)	 Energy production

	 (C)	 Deforestation				    (D)	 All of the above

	 fuEu esa ls dkSu&lk cka/ksa dk udkjkRed izHkko gS\

	 (A)	 jkstxkj						     (B)	 ÅtkZ mRiknu

	 (C)	 ouksa dk dVko					    (D)	 mijksDr lHkh

38.	 Which one of the following is non-conventional energy resource?

	 (A)	 Tidal Energy				    (B)	 Coal

	 (C)	 Petroleum					     (D)	 Fossils fuel

	 fuEu esa ls dkSu ÅtkZ dk xSj ijaijkxr lzksr gS\

	 (A)	 VkbMy ÅtkZ					     (B)	 dks;yk

	 (C)	 isVªksfy;e					     (D)	 thok'e b±/u

39.	 What is the percentage of fresh water at global level?

	 (A)	 25%						      (B)	 2.5%

	 (C)	 20%						      (D)	 1.0%

	 oSf'od Lrj ij rkts ty dk D;k izfr'kr gS\

	 (A)	 25%						      (B)	 2.5%

	 (C)	 20%						      (D)	 1.0%

40.	 The layer of fertile soil removed by running water is known as

	 (A)	 Sheet Erosion				    (B)	 Rill Erosion

	 (C)	 Gully Erosion				    (D)	 None of the above

	 cgrs gq, ty }kjk Hkwfe dh mitkÅ lrg dk cguk] dgykrk gS

	 (A)	 'khV {kj.k					     (B)	 fjy {kj.k

	 (C)	 xYyh {kj.k					     (D)	 mijksDr esa ls dksbZ ugha



14S-636/FES–(A)10/FES-(B)10/FES-10

41.	 Pushkar Lake is located in state

	 (A)	 Madhya Pradesh				    (B)	 Jammu and Kashmir

	 (C)	 karnataka					     (D)	 Rajasthan

	 iq"dj >hy ------- jkT; esa fLFkr gS

	 (A)	 eè; izns'k					     (B)	 tUew o d'ehj

	 (C)	 dukZVd					     (D)	 jktLFkku

42.	 World water Day us celebrated on

	 (A)	 22 April					     (B)	 22 March

	 (C)	 22 November				    (D)	 22 May

	 fo'o ty fnol euk;k tkrk gS

	 (A)	 22 vizSy dks					    (B)	 22 ekpZ

	 (C)	 22 uoEcj dks					    (D)	 22 ebZ

43.	 Which one of the following is known as "mineral heart" of India?

	 (A)	 Chhattisgarh				    (B)	 Jharkhand

	 (C)	 Uttarakhand				    (D)	 Chota Nagpur

	 fuEu esa ls dkSu lk Hkkjr dk [kfut ân; tkuk tkrk gS

	 (A)	 Nrhlx<+					     (B)	 >kj[kaM

	 (C)	 mÙkjk[akM					     (D)	 NksVk ukxiqj

44.	 In India, Shifting cultivation is mostly occur in

	 (A)	 Kerala					     (B)	 Rajasthan

	 (C)	 North-East region				    (D)	 Andaman and Nicobar

	 Hkkjr esa >we [ksrh eq[;r% gksrh gS

	 (A)	 dsjy						      (B)	 jktLFkku esa 

	 (C)	 mÙkj iwohZ {ks=k esa				    (D)	 vaMeku o fudksckj esa
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45.	 Sardar Sarover dam is constructed over

	 (A)	 Ganga River					    (B)	 Narmada River

	 (C)	 Kaveri River					    (D)	 Brahmaputra River

	 ljnkj ljksoj ck¡/ cuk gS

	 (A)	 xaxk unh ij					     (B)	 ueZnk unh ij

	 (C)	 dkosjh unh ij					    (D)	 czãiq=k unh ij

46.	 Which one the following is alternative source of energy?

	 (A)	 Solar energy					    (B)	 Wind energy

	 (C)	 Tidal energy					    (D)	 All of the above

	 fuEu esa ls dkSu lk ÅtkZ dk oSdfYid lzksr gS\

	 (A)	 lkSj ÅtkZ					     (B)	 iou ÅtkZ

	 (C)	 VkbMy ÅtkZ					     (D)	 mijksDr lHkh

47.	 Which energy is derived from biological components?

	 (A)	 Tidal energy					    (B)	 Nuclear energy

	 (C)	 Biomass energy				    (D)	 Hydropower energy

	 dkSu lh ÅtkZ	tSfod rRoksa }kjk mRiUu dh tkrh gS

	 (A)	 VkbMy ÅtkZ					     (B)	 uqDysvj ÅtkZ	

	 (C)	 ck;ksekl ÅtkZ					    (D)	 gkbMªksikoj ÅtkZ

48.	 Wildlife Institute of India is located in

	 (A)	 Almora					     (B)	 Nainital

	 (C)	 Dehradun					     (D)	 Srinagar

	 Hkkjr oU; tho laLFkku fLFkr gS

	 (A)	 vYeksM+k esa					     (B)	 uSuhrky esa

	 (C)	 nsgjknwu esa					     (D)	 Jhuxj esa
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49.	 Which one of the following in not benefit of forest?

	 (A)	 Medicinal value				    (B)	 Commercial value

	 (C)	 Recreational value				   (D)	 Biodiversity degradation

	 fuEu esa ls dkSu lk ouksa dk ykHk ugha gS\

	 (A)	 vkS"k/h; egRo					    (B)	 O;kikfjd egRo	

	 (C)	 vkuanizn egRo					    (D)	 tSo fofo/rk {kj.k

50.	 According to scientists India should have ...... % forest cover?

	 (A)	 50%						      (B)	 33%

	 (C)	 10%						      (D)	 70%

	 oSKkfudksa ds vuqlkj Hkkjr esa ou vkoj.k gksuk pkfg,A

	 (A)	 50%						      (B)	 33%

	 (C)	 10%						      (D)	 70%

51.	 Gaussian Plume model is used for

	 (A)	 Air Pollution					    (B)	 Water Pollution

	 (C)	 Noise 	Pollution				    (D)	 Soil Pollution

	 xkSfLl;u Iywe ekWMy iz;qDr gksrk gS

	 (A)	 ok;q iznw"k.k ds fy,				    (B)	 ty iznw"k.k ds fy,

	 (C)	 èofu iznw"k.k ds fy,				   (D)	 e`nk iznw"k.k ds fy,

52.	 Grit Chamber is used in 

	 (A)	 Biological treatment of water		  (B)	 Mechanical treatment of water

	 (C)	 Chemical treatment of water		  (D)	 None of the above

	 fxzV pSEcj iz;qDr gksrk gS 

	 (A)	 ty ds tSfod mipkj ds fy,		  (B)	 ty ds ;kaf=kd mipkj ds fy,

	 (C)	 ty ds	 jklk;fud mipkj ds fy,		  (D)	 mijksDr esa ls dksbZ ugha
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53.	 Pani Panchayat movement was started by

	 (A)	 Padurange Hedke				    (B)	 Vilasrao Salunke

	 (C)	 Medha patkar				    (D)	 R. Mishra

	 ikuh iapk;r vkUnksyu 'kq: fd;k x;k

	 (A)	 ikMwjaxk gsMds					    (B)	 foykljko lkyqads

	 (C)	 es/k ikVdj					     (D)	 vkj-feJk

54.	 Who is associated with Bishnoi movement?

	 (A)	 Sundar Lal Bahuguna			   (B)	 Amrita Devi

	 (C)	 Chandi Prasad Bhatt			   (D)	 Medha patkar

	 dkSu fc'uksbZ vkUnksyu ls lEcaf/r gS\

	 (A)	 lqUnj yky cgqxq.kk				    (B)	 ve`rk nsoh

	 (C)	 paMhizlkn HkV~V				    (D)	 es/k ikVdj

55.	 Which of the following plant is related with Hindu mythology?

	 (A)	 Peepal					     (B)	 Tulsi

	 (C)	 Bel						      (D)	 All of the above

	 fuEu esa ls dkSu lk ikni fgUnw ikSjkf.kdh ls lEcaf/r gS\

	 (A)	 ihiy						      (B)	 rqylh

	 (C)	 csy						      (D)	 mijksDr lHkh

56.	 Chernobyl  disaster was happened in the year

	 (A)	 1984						      (B)	 1985

	 (C)	 1986						      (D)	 1987

	 psuksZfcy vkink gqbZ Fkh

	 (A)	 o"kZ 1984 esa					     (B)	 o"kZ 1985 esa

	 (C)	 o"kZ 1986 esa					     (D)	 o"kZ 1987 esa
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57.	 What is 3-R concept?

	 (A)	 Reuse, reduce and recycle		

	 (B)	 Reconstruct, recycle, recreation

	 (C)	 Recovery, Reutilization and Recycle	

	 (D)	 Recovery, reuse and Recreation

	 Fkzh&vkj- fl¼kUr D;k gS\

	 (A)	 fj;w”k] jsMqt o jhlk;dy			 

	 (B)	 fjdaLVÙkQ] jhlk;dy	 o fjfØ,'ku

	 (C)	 fjdojh] fj;wfVykbts'ku o jhlk;dy			

	 (D)	 fjdojh] fj;w”k o fjfØ,'ku

58.	 Which of the following is biodegradable waste?

	 (A)	 Plastic					     (B)	 Polythene

	 (C)	 Remaining scraps of vegetables		  (D)	 None of the above

	 fuEu esa ls dkSu lk tSfod dwM+k gS\

	 (A)	 IykfLVd					     (B)	 ikWfyFkhu

	 (C)	 lfCt;ksa ds cps fNyds			   (D)	 mijksDr esa ls dksbZ ugha

59.	 Incineration is process in which solid waste is being

	 (A)	 Burnt out				  

	 (B)	 Deposited

	 (C)	 Segregated				  

	 (D)	 Used for vermi-compositing
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	 bfUlusjs'ku og izfØ;k gS ftlls Bksl vif'k"V dks

	 (A)	 tyk;k tkrk gS				 

	 (B)	 tek fd;k tkrk gS

	 (C)	 vyx fd;k tkrk gS			 

	 (D)	 dsapqvk [kkn cukus ds fy, iz;qDr fd;k tkrk gS

60.	 The Environment Protection Act was passed in the year

	 (A)	 1980						      (B)	 1982

	 (C)	 1984						      (D)	 1986

	 i;kZoj.k laj{k.k vf/fu;e ikfjr gqvk Fkk

	 (A)	 o"kZ 1980 esa					     (B)	 o"kZ 1982 esa

	 (C)	 o"kZ 1984 esa					     (D)	 o"kZ 1986 esa

61.	 The Wildlife Protection Act was passed in the year

	 (A)	 1971						      (B)	 1972

	 (C)	 1974						      (D)	 1986

	 oUl tho laj{k.k vf/fu;e ikfjr gqvk Fkk

	 (A)	 o"kZ 1971 esa					     (B)	 o"kZ 1972 esa

	 (C)	 o"kZ 1974 esa					     (D)	 o"kZ 1986 esa

62.	 The World Environment Day is celebrated on

	 (A)	 5th May					     (B)	 5th June

	 (C)	 5th July					     (D)	 5th August

	 fo'o i;kZoj.k fnol euk;k tkrk gS

	 (A)	 5 ebZ						      (B)	 5 twu

	 (C)	 5 tqykbZ					     (D)	 5 vxLr
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63.	 The Earth Day is celebrated on

	 (A)	 22nd April					     (B)	 1st May

	 (C)	 5th June					     (D)	 22nd March

	 i`Foh fnol euk;k tkrk gS

	 (A)	 22 vizSy				    (B)	 1 ebZ

	 (C)	 5 twu					    (D)	 22 ekpZ

64.	 The World Population Day is celebrated on

	 (A)	 5th May					     (B)	 11th July

	 (C)	 5th July					     (D)	 1st May

	 fo'o tula[;k fnol euk;k tkrk gS

	 (A)	 5 ebZ						      (B)	 11 tqykbZ

	 (C)	 5 tqykbZ					     (D)	 1 ebZ

65.	 The book "Silent Spring" was written by

	 (A)	 Arne Neaes					     (B)	 Rachel Carson

	 (C)	 Paul Ehrlich					    (D)	 Darwin

	 ^^lkbysaV ¯Lçax uked iqLrd fy[kh x;h

	 (A)	 vusZ uhl }kjk					    (B)	 jkdsy dklZu }kjk

	 (C)	 ikWy ,fâ~yp }kjk				    (D)	 MkfoZu }kjk

66.	 The causative agent of the malaria is 

	 (A)	 Plasmodium					    (B)	 Salmonella

	 (C)	 Hepatitis virus				    (D)	 E. histolytica

	 eysfj;k dk dkjd gS

	 (A)	 IykleksfM;e					     (B)	 lsYeksusyk

	 (C)	 gsisVkbfVl fo"kk.kq				    (D)	 bZ- fgLVksfyfVdk
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67.	 Which one of the following is air borne disease?

	 (A)	 Typhoid					     (B)	 AIDS

	 (C)	 Tuberculosis					    (D)	 Dysentery

	 fuEu esa ls dkSu lk ok;q tfur jksx gS\

	 (A)	 VkbiQkbM					     (B)	 ,M~l

	 (C)	 risfnd						     (D)	 nLr

68.	 Minamata disease was happened due to

	 (A)	 Arsenic					     (B)	 Mercury

	 (C)	 Chromium					     (D)	 Lead

	 feukekrk jksx gqvk Fkk

	 (A)	 vklsZfud ds dkj.k				    (B)	 ejdjh ds dkj.k

	 (C)	 Øksfe;e ds dkj.k				    (D)	 'kh'kk ds dkj.k

69.	 Which of the following is water and food borne diseases?

	 (A)	 Typhoid					     (B)	 Cholera

	 (C)	 Dysentery					     (D)	 All of the above

	 fuEu esa ls dkSu ty o [kk| tfur jksx gS

	 (A)	 VkbiQkbM					     (B)	 gStk

	 (C)	 nLr						      (D)	 mijksDr lHkh

70.	 The expanded form of WHO is

	 (A)	 World Human Organization		  (B)	 Water Health Organization

	 (C)	 World Health Organization		  (D)	 World Health Office

	 W.H.O. dk c`gn :i gS

	 (A)	 oYMZ Þ;weu vkxsZukbts'ku			   (B)	 okVj gsYFk vkxsZukbts'ku

	 (C)	 oYMZ gsYFk vkxsZukbts'ku			   (D)	 oYMZ gsYFk vkWfiQl
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71.	 To set the moral values toward environment is related to:

	 (A)	 Environmental laws			   (B)	 Environmental economics

	 (C)	 Environmental Ethics			   (D)	 None of the above

	 uSfrd ewY;ksa dks i;kZoj.k ds fy, LFkkfir djuk lEcf/r gS

	 (A)	 i;kZoj.kh; fu;eksa ls				    (B)	 i;kZoj.kh; vFkZ'kkL=k ls

	 (C)	 i;kZoj.kh; bfFkDl ls				   (D)	 mijksDr esa ls dksbZ ugha

72.	 The following are water borne disease except

	 (A)	 Cholera					     (B)	 Typhoid

	 (C)	 Hepatitis A					     (D)	 Measles

	 fuEu esa bls NksM+dj ty tfur jksx gSa

	 (A)	 gS”kk						      (B)	 VkbiQkbM

	 (C)	 gsisVkbfVl ,					     (D)	 [kljk

73.	 Environment education is important only at

	 (A)	 Primary School level			   (B)	 Secondary School level

	 (C)	 College level					    (D)	 All level

	 i;kZoj.kh; f'k{kk vko';d gS

	 (A)	 izkFkfed fo|ky; Lrj ij			   (B)	 ekè;fed fo|ky; Lrj ij

	 (C)	 dkWyst	Lrj ij					    (D)	 lHkh Lrj ij

74.	 Cancer causing agents are called

	 (A)	 Pollutans					     (B)	 Carcinogens

	 (C)	 Toxicants					     (D)	 Xenobiotics

	 dSalj iSnk djus okys rRo dgykrs gSa

	 (A)	 iksYY;qVsaV~l					     (B)	 dkflZukstal

	 (C)	 VksDlhdsaV~l 					     (D)	 thuksck;ksfVDl
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75.	 Rooftop method is related with

	 (A)	 Watershed management			   (B)	 Micro-irrigation

	 (C)	 Rainwater harvesting			   (D)	 None of the above

	 :iQVkWi fof/ lEcaf/r gS

	 (A)	 okVj'ksM izca/u ls				    (B)	 ekbØksbjhxs'ku ls

	 (C)	 jsu okVj gkosZ¯LVax ls 				   (D)	 mijksDr esa ls dksbZ ugha

76.	 Meanings of environment is

	 (A)	 Total surroundings of us			   (B)	 Air and water

	 (C)	 Soil and plants				    (D)	 natural resources

	 i;kZoj.k dk vfHkizk; gS

	 (A)	 gekjs vklikl					    (B)	 ok;q o ty

	 (C)	 e`nk o ikni					     (D)	 izkÑfrd lalk/u

77.	 The thickness of ozone layer is measure in

	 (A)	 Millimeter					     (B)	 Centimeter

	 (C)	 Decibels					     (D)	 Dobson Unit

	 vkstksu ijr dh eksVkbZ ekih tkrh gS

	 (A)	 feyhehVj esa					     (B)	 lsaVhehVj esa 

	 (C)	 Msflcsy esa					     (D)	 MkWclu bdkbZ esa

78.	 Which one of the great ornithologist of India?

	 (A)	 Hari Govind Khurana			   (B)	 Salim Ali

	 (C)	 Venkatesh Bashu				    (D)	 E.R. Hora

	 fuEu esa ls dkSu Hkkjr dk izfl¼ i{kh oSKkfud gS

	 (A)	 gfj xksfoUn [kqjkuk				    (B)	 lyhe vyh

	 (C)	 osadVs'k c'kq					     (D)	 bZ-vkj-gksjk
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79.	 Famous book of Darwin is

	 (A)	 Origin of species				    (B)	 Silent Spring

	 (C)	 Species Plantarum				   (D)	 nature

	 MkfoZu dh izfl¼ iqLrd gS

	 (A)	 vksfjftu vkWiQ Lih'kht			   (B)	 lkbysaV ¯Lçax

	 (C)	 Lih'kht IykaVsje				    (D)	 uspj

80.	 Which factor is responsible for wasteland genesis?

	 (A)	 Soil Erosion					     (B)	 Deforestation

	 (C)	 Overgrazing					    (D)	 All of the above

	 dkSu lk dkjd osLVySaM mRifÙk ds fy, mrjnk;h gS\

	 (A)	 e`nk vijnu					     (B)	 ouksa dk dVko

	 (C)	 vfrpkj.k					     (D)	 mijksDr lHkh

81.	 Which is non-renewable energy resource?

	 (A)	 Sun						      (B)	 Geothermal

	 (C)	 Coal						      (D)	 Wind

	 dkSu&lk ÅtkZ dk vuohuhÑr lalk/u gS\

	 (A)	 lw;Z						      (B)	 Hkwrkih;

	 (C)	 dks;yk						     (D)	 iou

82.	 Biogas is produced from

	 (A)	 Plant materials				    (B)	 Animal Waste

	 (C)	 Garbage					     (D)	 All of the above

	 ck;ksxSl cukbZ tkrh gS

	 (A)	 ikni inkFkks± ls					    (B)	 tkuojksa ds vif'k"V ls

	 (C)	 dwM+s dpjs ls					     (D)	 mijksDr lHkh
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83.	 Herbivores animals are generally

	 (A)	 Producers					     (B)	 Primary consumers

	 (C)	 Secondary Consumers			   (D)	 Decomposers

	 'kkdkgkjh tarq lkekU;% gksrs gSa

	 (A)	 mRiknd					     (B)	 izkFkfed miHkksxrk

	 (C)	 f}rh;d miHkksxrk				    (D)	 vi?kVd

84.	 Which one of the following is freshwater ecosystem?

	 (A)	 Pond						      (B)	 Coral reefs

	 (C)	 Deep Ocean					     (D)	 Delta

	 fuEu esa ls dkSu lk rkts ty dk ikfjfLFkfrd ra=k gS\

	 (A)	 rkykc						     (B)	 dksjy jhÝl

	 (C)	 Mhi vksfl;u					     (D)	 MsYVk

85.	 Different species of plants and animals present in a region known as

	 (A)	 Genetic Diversity				    (B)	 Species Diversity

	 (C)	 Invasive Diversity				    (D)	 None of the above

	 ,d {ks=k esa fofHkUu izdkj ds ikniksa o tarqvksa dh iztkfr;ka dgykrh gSa

	 (A)	 tsusfVd fofo/rk				    (B)	 tkfr fofo/rk

	 (C)	 buosflo fofo/rk				    (D)	 mijksDr esa ls dksbZ ugha

86.	 In India, approximately.......... percent plants are endemic	  

	 (A)	 50%						      (B)	 32%

	 (C)	 18%						      (D)	 2%

	 Hkkjr esa yxHkx brus izfr'kr ikni LFkkfud gSa

	 (A)	 50%						      (B)	 32%

	 (C)	 18%						      (D)	 2%
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87.	 Kailadevi Wildlife Sanctuary is located in the 

	 (A)	 Uttarakhand				    (B)	 Rajasthan

	 (C)	 Karnataka					     (D)	 Jammu and Kashmir

	 dSyknsoh oU;tho vH;kj.k fLFkr gS

	 (A)	 mÙkjk[k.M esa					     (B)	 jktLFkku esa

	 (C)	 dukZVd esa					     (D)	 tEew o d'ehj esa

88.	 The Asiatic lion is only found in the 

	 (A)	 Jim Corbett National Park		  (B)	 Kaziranaga National Park

	 (C)	 Rajaji National Park			   (D)	 Gir National Park

	 ,f'k;kfVd 'ksj fliQZ ik, tkrs gSa

	 (A)	 fte dkWcsZV jk"Vªh; m|ku esa			   (B)	 dkthjaxk jk"Vªh; m|ku esa

	 (C)	 jktkth jk"Vªh; m|ku esa			   (D)	 fxj jk"Vªh; m|ku esa

89.	 Grasshoppers, ants, mosquitoes and spiders are example of phylum

	 (A)	 Annelida					     (B)	 Arthropoda

	 (C)	 Mollusca					     (D)	 Echinodermata

	 fV<s] phfV;k¡] ePNj o edfM+;ka mnkgj.k gSa

	 (A)	 la?k ,susfyMk ds				    (B)	 la?k vkFkzksZiksM+k ds

	 (C)	 la?k eksyLdk ds				    (D)	 la?k bdkbuksMjesVk ds

90.	 Which one of the following is secondary pollutant?

	 (A)	 NO2						      (B)	 SO2

	 (C)	 P.A.N						     (D)	 None of the above

	 fuEu esa ls dkSu f}rh;d iznw"kd gS\

	 (A)	 NO2						      (B)	 SO2

	 (C)	 ih-,-,u-					     (D)	 mijksDr esa ls dksbZ ugha
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91.	 Which one of the following is cause of soil pollution?

	 (A)	 Excessive use of Insecticide

		 (B)	 Dumping of Solid Waste

	 (C)	 Soil Erosion

	 (D)	 All of the above

	 fuEu esa ls dkSu e`nk iznw"k.k dk dkj.k gS\

	 (A)	 dhVuk'kdksa dk vR;f/d mi;ksx

	 (B)	 dwM+s dpjs dk iQsaduk

	 (C)	 e`nk vijnu

	 (D)	 mijksDr lHkh

92.	 Sound is measured in a unit called the

	 (A)	 Dobson				    (B)	 Decibel

	 (C)	 Candella				    (D)	 None of the above

	 èofu ekiu dh bdkbZ dgykrh gS

	 (A)	 MkWclu					    (B)	 Msflcsy

	 (C)	 daMsyk					    (D)	 mijksDr esa ls dksbZ ugha

93.	 Any undesirable changes in physical, chemical and biological properties of  

	 environment is called as

	 (A)	 Disaster					     (B)	 Pollution

	 (C)	 Biomagnification				    (D)	 Bioremediation

	 i;kZoj.k ds HkkSfrd] jklk;fud o tSfod xq.kksa esa vokaNuh; ifjorZu dgykrk gS

	 (A)	 vkink						     (B)	 iznw"k.k

	 (C)	 ck;kseSxzhiQhds'ku				    (D)	 ck;ksjsesMh;s'ku
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94.	 Montreal protocol is related with

	 (A)	 Ozone layer					     (B)	 Global warming

	 (C)	 Marine Pollution				    (D)	 Green House gases

	 eksafVª;y izksVksdkWy lEcaf/r gS

	 (A)	 vkstksu ijr ls					    (B)	 oSf Üod m".krk ls

	 (C)	 leqnzh iznw"k.k ls				    (D)	 xzhu gkml xslksa ls

95.	 Detritus food chain starts from

	 (A)	G reen Plants				    (B)	 Organic matter

	 (C)	 Primary consumers			   (D)	 Secondary Consumers

	 MsVªhVl [kk| Ja[kyk vkjEHk gksrh gS

	 (A)	 gjs ikniksa ls					     (B)	 dkcZfud inkFkks± ls

	 (C)	 izkFkfed miHkksDrkvksa ls			   (D)	 f}rh;d miHkksDrkvksa ls

96.	 Which one of the following cause global warming?

	 (A)	 Carbon dioxide				    (B)	 Oxygen

	 (C)	 Nitrogen					     (D)	 Hydrogen

	 fuEu esa ls dkSu oSf Üod m".krk dk dkj.k gS\

	 (A)	 dkcZu MkbvkWDlkbM				    (B)	 vkWDlhtu

	 (C)	 ukbVªkstu					     (D)	 gkbMªkstu

97.	 Ozone layer is present in

	 (A)	 Troposphere					    (B)	 Ionosphere

	 (C)	 Stratosphere				    (D)	 Exosphere

	 vkstksu ijr ikbZ tkrh gS

	 (A)	 {kksHk eaMy esa 					    (B)	 vkbuksaLiQh;j esa

	 (C)	 lerki eaMy esa				    (D)	 cfge±My esa
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98.	 What is main reason for melting of glaciers?

	 (A)	 Increase in the oxygen content		  (B)	 Global warming

	 (C)	 Decrease in CO2 content			   (D)	 Noise pollution

	 Xysf'k;j ds fi?kyus dk eq[; dkj.k gS

	 (A)	 vkWDlhtu dh ek=kk c<+uk			   (B)	 oSf Üod Å".krk

	 (C)	 CO2 dh ek=kk de gksuk 			   (D)	 èofu iznw"k.k

99.	 Wildlife week celebrated in the month of 

	 (A)	 October					     (B)	 November

	 (C)	 December					     (D)	 January

	 oU; tho lIrkg bl ekg esa euk;k tkrk gS

	 (A)	 vDVwcj						     (B)	 uoEcj

	 (C)	 fnlEcj						     (D)	 tuojh

100.	 The state tree of the Uttarakhand is

	 (A)	 Rhododendron				    (B)	 Pinus

	 (C)	 Ficus						      (D)	 Querus

	 mÙkjk[k.M dk jkth; isM+ gS

	 (A)	 jksM+ksMsUnzksu					     (B)	 ikbZul

	 (C)	 iQkbZdl					     (D)	 ddZl

******



30S-636/FES–(A)10/FES-(B)10/FES-10

ROUGH WORK
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ROUGH WORK
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Importance Instructions / egRoiw.kZ funsZ'k

3.	 For marking answers on OMR sheet, follow the detailed instructions given on the  
	 OMR Sheet.

	 vks-,e-vkj- izi=k ij vius lgh mÙkj dks fpfUgr djus ds fy, izi=k ij vafdr funsZ'kksa dk ikyu dhft,A

4.	 Use only Blue or Black ball point pen for marking on OMR.

	 vks-,e-vkj- ij fpUg yxkus ds fy, dsoy uhyh ;k dkyh ckWy IokWbUV iSu dk gh bLrseky dhft,A


